
National 5              Quadratic Graphs                                         Homework Marking Scheme – REL 

 

1. (a) 8 = k(2)²     1 substitution 

  k = 2      1             [2 marks] 

(b) y = (x – 3)² ……..    1 

…………+ 2.     1             [2 marks] 

 

2. (a) x – axis intercepts 4 and 2  1   

     y – axis intercept     (0,  8)    1 

T. P. (1,  9)     1 

 Minimum     1 

 (b)  y – axis intercept     (0, 28)   1  

T. P. (5, 3)      1 

Minimum     1             [7 marks] 

 

3. (a) (– ½,……..     1 

  ……..3)     1 

  Maximum     1     

 (b) x = – ½     1             [4 marks] 

Total:   15 marks 

 


